


De�nicija 1(a)

Neka su a ∈ R i f : D ⊆ R→ R, pri £emu D ⊇ [a,+∞〉.

x

y

Γf

a

R

1 ∫∞
a f (x) dx

∫ R
a f (x) dx

De�niramo ∫ ∞
a

f (x) dx :=

lim
R→+∞

∫ R

a
f (x) dx ,

kad god je desna strana ove formule de�nirana.
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De�nicija 1(b)
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De�nicija 1(c)
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izboru c ∈ R.
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Zadatak 53(a)

Izra£unajte integral

∫ ∞
0

dx

1 + x2
.

Rje²enje. Koriste¢i de�niciju nepravog integrala∫ ∞
a

f (x) dx := lim
R→+∞

∫ R

a
f (x) dx ,

imamo ∫ ∞
0

dx

1 + x2
= lim

R→+∞

∫ R

0

dx

1 + x2

= lim
R→+∞

arctg x

∣∣∣∣R
0

= lim
R→+∞

(arctgR − arctg 0)

= lim
R→+∞

arctgR

=
π

2
.

∫
dx = x + C∫
xa dx =

xa+1

a+ 1
+ C (a 6= −1)∫

dx

x
= ln |x |+ C∫

ex dx = ex + C∫
ax dx =

ax

ln a
+ C (a > 0, a 6= 1)∫

cos x dx = sin x + C∫
sin x dx = − cos x + C∫
dx

cos2 x
= tg x + C∫

dx

sin2 x
= − ctg x + C∫

dx
√
1− x2

= arcsin x + C∫
dx

1+ x2
= arctg x + C∫

dx

a2 + x2
=

1

a
arctg

x

a
+ C (a > 0)
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Zadatak 53(b)
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Zadatak 53(c)
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